Economics 11 – Make up exam
Mid-term 2
Please answer all questions.  To receive full credit, you must show all work you did to arrive at an answer.  Graphs must be completely labeled. 
1. (30)
Charter Communications is the sole provider of cable television services to upper Fairfield County.  
a.
Illustrate the price, quantity and profits of Charter.  Assume it is making economic profits.

b.
How would your answer change if you consider ALL sources of TV signals (satellite, phone, etc.).  Don’t draw a graph, just explain.

c.
If the State forced Charter to operate at the point of social efficiency (allocative efficiency), show the firm’s new price, quantity and profits. 

2. 
The numbers below represent the labor input and resulting output (in dozens) for Betty's Bagel Bakery:





Labor Input

Output





0

   0






1

  30

 






2

  80






3

 150





4

 200







5

 230







6

 240






7

 240


a.
Calculate the average and marginal products


b.
Identify regions I, II and III (you can do this numerically or graphically if you use these specific numbers)


c.
What causes marginal product to rise in region I?



What causes it to fall in region II?


d.
Where would Betty choose to produce?  Explain why.









NEXT->

3. (30)
The market for rice is characterized by many sellers, each offering a homogenous product.
a.
Illustrate the equilibrium for a typical seller, and for the market, if all rice farmers are making economic profits..


b.
Illustrate the long run adjustment for the market and the firm.

Part II – Use the following numbers to find average variable cost and average total cost:


Variable Costs = $13,000


Fixed Costs      = $  5,000


Price 

 = $14



Quantity = 1,0000


Use your numbers to determine if the firm should stay open in the short run.







